phm EEL
FESIBER (CD) Bi{i] H30EE RIFE R2EE
REsaKAO IN 166,707 165,092 163,588
TKEEFEARD
JOJ«a—I)L
===k A 61 62 60
FEIRKIRIER - Fivk (BR) | &k (BR) | &K (BR)
FIKIZIKE % 37.6 38.0 36.0
3,75 ﬁﬂ(*DlH*gTC @D £1P)
ZAT LD : ° il 0.78 0.73 0.73
JOoJ« - kIR E 1A
WARKAOLBASEDD EiFfT/ 5
STy 1A 3.4 3.39 3.30
BIVKEEE Fm3/ha 0.70 0.67 0.67
S ¢ oD KERXA—F—EE 18l/km 81.0 81.3 81.3
JOJ+4 -
HEER m/ A 6.38 6.45 6.52
#PERTIR - EFRE




PIt&1{E | PIZtEfE | PIFt&1E o o
X5y B PI& ==Vv} S8R
(H30) (R1) (R2)
A101 T EBIERERE 0.35 0.35 0.36 (mg/L)  BEEREEAsy BEERIE
BRAHDERYEREKE (1B, EB%)
A102 20.0 30.0 20.0 B A BB KEEEE) x 100
AR (%) - = )
@ NUJ\O XS ABREK S (KRR NNI YRR $a7kies) / KEE
AL03 ! S S5 310 205 %) > (AKROBNIDSIREY (ki) /K5
BEEIXK #fEx 100
A (TOC) REKH S ($rkigEtE (TOC) RE/ ki) /
A104 19.3 23.3 21.7 %
0% st (%) KEEEEX 100
. . . (fE, BER) s (RARONZELEEE BKIRE) /KGR
KEEE | A105 ELEEREKEEEHS 0.0 0.0 0.0 2 (BAEOSZRERRR KARER) /A5
(%) #fBx 100
Y R KR (B, BER) 5 (KROSZEMIEREE BAISE) / KE
" 12. 14. 12.4
28 AL106 = 3 8 (%) E#fBEx 100
£ AL07 B ERE KSR 00 00 0.0 (fE, HER) = (BAie0LBEbEmERR @Ke) /
C #E R ' ' ' (%) IKEE%EEX 100
B BRI RS KB B, 18 @ S S A PR EUKASE
B AL08 ’ﬁamJ B4R K E (6.7 133 033 (E, BELZ) = (¢ IR B BRI E R kit 8) /
= A (%) KBEAEMEX 100
X A109 EEEEKEEREELL - - - - max =(Xij/GVj )
A201 BAKBERE 64 64 64 (EH) EAKEERER
ll/_\7 7 =] " =z (ETFE 100 g % = K Epr 1 ,l/El\
7202 E_M‘@ KERE (BH) 5 Y e / (WeKAKBIRE (BR) SUKERRE/IRIERK
EPTEE km?) H1E)*x 100
TJ‘@E”"F'L"'EE 5 A (:335 = 7_: ; S ——— ; 7
“EE | a203 motmREEE 794 | 799 | 79.9 ()~ CERCRBLIRACERISE [ BACLES
=8) x 100
A204 BEHEBKE 94.0 97.9 97.9 (%) (BSR4 KA 58) x 100
A205 BFKAE/KEISER 11.8 12.1 11.2 (%) (BB KBTS / BF/KABAGEE) x 100
e | A301 KR EE B 0 0 0 (#5) ERIRUKEE B
EEERE e
A302 ¥FEMERNIBLESR 7.2 8.7 7.5 (%) (BB P RIME K B/ SE RISk ) X 100
o MEEREE | A401 ARMAKER 0.2 0.2 0.1 (%) (SABUA K BB LEER /467K ) x 100




B 4945 5% == PIZ, PIZtE1E | PIStE1E | PISTE(E B stEot
(H30) (R1) (R2)
B101 HI{FEKER 61.3 61.3 61.3 (%) (BTREKRKE/2KRKE)x 100
B102 HUKE1m Yz D/KFRDINELE 0.00 0.00 0.00 (A/m?) KBRS (TIRE U B R/ RIBUkE
B103 |ihF7kE 7.2 7.7 5.8 (%) (T FokigkE / FERIEUKE)x 100
B104 |pEsRFIA=R 50.5 49.9 50.5 (%) (—BF9EIKE/HEREES) x 100
B105 |SABKER 54.6 53.5 56.2 (%) (—BSKEUKE/MEEREE)x 100
B106 &fEX 92.5 93.2 89.8 (%) (—HTIEKE/—BRAEIKE)x 100
B107 EUKBEREZE 4.1 4.1 4.1 (km/km?) BKE IR/ RTEH/KEE
B108 |EREt&=X 29.6 35.1 15.3 (%) (FRIRUZERIER / BWIER) x 100
it A= B109 JULT &= 1.0 1.4 0.6 (%) (RRUZ/)ULTE / JULTERESR) x 100
B110 ifK= 6.1 6.2 7.5 (%) (ERRKE / ERBIKE) x 100
B11l HBxhX 93.2 93.3 91.9 (%) (FEREMkE / FEREKE) x 100
z B112 HUXX 89.7 89.6 88.6 (%) (ERBUUKE/FRELKE)x 100
E B113 Eo/KthETEREEH 0.93 0.93 0.92 (=) BkithEsE S/ —H Fi98KE
L E B114 #AKAO—AHZDEIKE 312 311 317 (L/8-A) (—BFEKS/HRERKAL)* 1,000
= =) B115 |#a/KEIREZK 0 0 0 (82) FERBKEIRE
K & B116 |#A/KEE/A=R 97.8 97.9 97.9 (%) (RTEMRK AO/HKRIEPRIA L) x 100
D it B117 ¥fRri&EMER 48.5 48.5 48.5 (%) (FRIRMAS Y el BR - STEMERDAEE) x 100
fi B201 FuKIBSEHEIS 0.00 0.00 0.00 (/10 - EFF) | 10ERIDFKIBSIEERAE / BKIgHK
@ B202 |StEsHTKAOE 46.5 46.0 48.0 (%) (SEHRBSITK A O/ BRFERRK A L) x 100
B203 #AKAO—AHZDETEERRIKE 144 145 146 (L/A) (REACERIE R 1/2+ REKTAMRER) x1,000/R
TEHRAAO
B204 |BEEOBHEIE 5.0 5.0 11.9 (f£/100 km)  ERROBHFL /( EIIEER/100)
B205 HEREWOSBHIIS 0.0 0.0 0.0 (£/100 km)  EREROBHFLE/ (RHERIER/100)
E|HssEsE | B206 #HEBROSHBIS 1.4 1.6 1.1 (/100 km)  HEBWOBEME / (HREIER/100)
B207 IEHHEROEHNEIES 11.9 11.6 15.5 (4/100 km) IERREIRDOEER /| GEHRREER/100)
B208 #aKEDSHHEIS 1.2 1.2 0.8 (/1,000 1)  HKEOBEFEL / (F8K1EE8/ 1,000)
8209 R AO— AHZDSERK - EKES - e el () (WK - KBRS x BK - EKEIEEAKAD) / BT
5 fakAO
B210 |KEXMHIIFEREMOIER 1 1 3 (B1,/4%F) FRDOKEX HKENFEREMOER
B211 HAIREBEEE 1.8 2.4 2.4 (B/km) HANIEER / BOKELR




PIZtEfE | PISTE1E | PIETEE _
BiZ %8 X% BHS PI%& ==1iy) STER
(H30) | (R1) (R2)
B301 BukE1m3 Lz DB/ HER 0.30 0.31 0.31 (KWh/m?)  BAEREDAE / FHEkE
B302 EKEImM3 Lz DHETRILFE— 3.78 3.64 3.03 (MI/m®)  TRLP—EEES / EREAE
\ BUKE1m3 /=D —ELRE (CO,) ; N .
& B303 e 208 194 164 (g-CO,/m3)  [EELHRT (CO2) HELE / GFRIBUKE] x 10
s, =
=
= SIS . ERRETRILF—RROBHEHRE /| SHEROE
& = B304 M4RIAETRILE—FIFRE 0.00 0.00 0.00 (%) (BEMETALT RO RAR / SHROR
o - HfEAZ) x 100
= B305 #KFETOEMFIAR 100.0 | 100.0 | 100.0 (%) (EMFIRLE / BkRELTE) x 100
E ! EnERBRENE / RBHENRE
L B306 EREEMODUTAIILE 33.0 35.1 38.4 (%) (;)bjlgo MSRIRIEE [ SRIRRENR
==}
. . J $EER ST fMEAE ERIE
1z e B401 SU5-)LEEHKE - IER 59.9 60.3 60.7 (%) SO OVRRELS + ASLE) / BEES] x
7K s EE 100
> B402 ERRDHRE 0.07 0.14 0.10 (%) (R E IR/ BIER)x 100
; EETAEEE B2 T\ 5Bkt n/2
#t - BSOL AETFERIBIE SR 0.0 0.0 0.0 (%) e IR
[2%4: 1
fa B4 (CEEMRAEREBI TS0 - BR - SHERHER
T B502 AEMFAMEMBBREER 71.3 71.3 71.3 (%) EoaEtsy
I MR i - B - FHERRRAEDAEHR) x 100
SEEMRESEBR T\ 3 BT R/ SHIE
BS03 EEMHAEMBREHEE 253 | 259 | 27.6 (%) R SRR RIS
B504 EIROEIE 0.53 0.54 0.49 (%) (BH &N/ B/ EIER)x 100
B505  BHOELR 0.00 0.00 0.00 (%) (B &N/ BRIER/ ERIER) x 100




PISTEIE | PISTE1E | PISTEAE ,
B %A X5y BS PI% Cfivi B
(H30) (R1) (R2)
B601 SARIDEKAER 0.0 0.0 0.0 (%) (FUKRbiTRE /25 /K HE38e 1) x 100
= hkO) E 7:.-/ Dﬂ"l_\b % Dn‘L\b
B602 EKMERROMEILE 15.5 15.5 15.5 (%) imig()jjﬁ TR AGRRIED [ ETATRRIED)
(LR - HBEET BHROTMERKIEREED +5
B602-2 ks DE BHEEMIMIRILE 0.0 0.0 0.0 (%) BOH DT )/ 2P KRN ]
x100
o IR AR =R S T PR R SR
B603 K> IRRDME(LE 2.7 2.7 2.7 (%) (EHIROHEE TR TP MRAEHR>
JRREEN)x 100
BAROME N B E NS R/ RS ES
- B604  EUKHODMEILE 494 | 498 | 49.8 (%) (WRAROIE N RA RS RARS A
Z Z58)x 100
i B60S BIEOMEEE 20.3 20.8 21.3 (%) (TR R/ EPHER)x 100
L 5 B606 EHEMROMEEE 33.1 34.9 34.9 (%) (BREEO > SHRSIEE/BREEER)x 100
: e (BREEOS SHRBAL OS2 ERILE/BRE
= = B606-2 EHEIEOMIE 63.5 65.4 65.4 %
y R O e FRIAOMRE (%) FESER) < 100
7, = = e = =
o . (BB ERD S STHR B/ BERK
B607 EEKHGREKEEOMEEE 46. 49. 1. %
o - 607  BEHAKIEREKEEOMEE 6.3 9.3 51.0 (%) ST ERER )X 100
f 56072 s T 624 o c6.0 o (EBHKIBREKERDS STHEBA DS S B
2 BRI AREOMRRSH ' ' ' ) S/ WA KRR K ERER ) x 100
ma
N gr\, EEEH\ (: = =i —HiEE
B608 (EEIELKEHIRE 197.0 | 2005 | 198.1 (%) (:)ﬁflz{;%?’ TR CS SRR/~ BFARK
=21
(AT SRR, FHERI — B T ERE) X (& (T
B609 ERFEEH 10.7 12.0 11.2 (8) IERAIT R/ ERA O TEEAR)05 5,
LW\IDfE
B610 MAEMEEEH 0.6 0.6 0.6 (8) AR/ — B R
B611 ORfaKiEsREE 2.4 2.4 2.4 (EFF/100 km?) | IS2aKIERE/ (BRIEHA/KETE/100)
B612 #KERERE 0.01 0.01 0.01 (8/1,000 A)  #arkeEs8/ (RAEKKAD/1,000)
B613 E#HADIEKY > IREE 0.10 0.10 0.12 (m?/1,000 \) E#AHEKY>ODEE/(7KAD/1,000)




PIstE(E

PIstE(E

PIGtE{E

B D48 X% BS PI& (H30) (R1) (R2) I==1iv] STER
C101 EZEUNZHE 118.5 116.1 112.7 (%) [(BNE— SETBNR) / (EXER- TFEIFEHE) [x 100
C102 #EEUNZHEER 117.1 114.9 112.0 (%) [(E2UNE + EXIMNE )/ (EX£ER + EXHER)]x100
C103 #8UNZte= 112.3 114.6 111.9 (%) (FRUNZS /&)< 100
Cl04 REXREERIEE 0.0 0.0 0.0 (%) [RERIES/ (BN —FFEITHINE)]x 100
C105 AT (USRI A ) 2.3 2.6 2.5 (%) (1BRBYERRAS/INEEHIYNA ) x 100
C106 BEAESHEXR (BARHIURAT) 11.3 9.5 10.2 (%) (BABTERAS/EARNINAZT) X100
C107 EEBE— AHIZDIEKIEG 66,389 64,915 63,151 (FH/AN) FEKIRER /BB EFTE IS %
C108 #A/KUNE(CH T DIMEREEDEIS 9.7 9.9 10.3 (%) (B EMRSE/HEKINE)*x 100
C109 #E/KUNER(CH T DTEEBFEDEIS 7.6 7.0 6.5 (%) ({BEZEF S /FE7KINEE) x 100
C110 #&7KUNZR(C3 9 DIRMEINEDEIS 32.2 32.3 33.6 (%) (RTEANE /457K UNEE) x 100
Cl11l #E/KUNER (T T BEKWMBEDIEHDEEBERETEDES 32.5 32.0 32.4 (%) (GERMEDIZHDIEEBEERE TR/ FE7KINE) %100
i Cl12 #EKUNER(CH T D TEEBKREDEIS 426.1 426.2 428.4 (%) ({PZEKRS/HE7KINEE) x 100
€2 Cl13 HBEhURx 110.6 109.4 106.9 (%) (e i/ fa K EAf ) x 100
; a4 s Cl14 {HiaEMfh 210.9 212.2 210.7 (Fq/m3) fEKINER /BB IUKE
e iE ERER- (SRTEE: ARG ERSRE+ W
M %5 C115 #E/KERE 190.7 | 194.0 | 197.2 (F3/m?) ;f%%;;ﬁg; E’;gﬁi;g AR+ B
= Cl16 | 1/E10 MY/ DRERNSE 1,671 | 1,702 | 1,702 (M) 1 MB10m*&7 DREMRRS
=3 C117 |1 820 m*Eiz DREMARE 3,851 3,922 3,922 (M) 1 ME20mM3YE DRERRS
C118 REILE 219.1 | 2242 | 260.8 (%) (RED AR/ FBEME)x 100
C119 HEEAERILE 51.3 521 53.4 (%) [l(i$ﬁ+§u%ﬁ+§¢ﬁﬁ§§§%+r’ﬁiﬂﬂ'ﬁ)/ aE - EXE5T Ix
C120 [EFELE= 171.5 165.3 160.3 (%) [BEEEE/(BAS+FEIRE +IHMAZEZEHRIEUNZS)]x 100
C121  EEEET S R R 1058 | 1039 | 101.7 (%) [ERRROEOOERRIATE/(HFERMNIR-SRMR
£RA)]%x100
Cl122 EFE&ELERR 0.12 0.12 0.12 (=) (BZ2INE -SZXTBENR)/[(FEEEEE + BREEEE)/2]
C123 ECEEEENE 6.7 6.6 6.6 (MYBM)  EmMEkE/ avETAE
Cl24 BBE—AHZOAIUKE 315,000 | 306,000 | 300,000 (m3/A) FRIHBBIUKE / BRBEPTEIES
C125 ®IEEKREDES 0.05 0.05 0.05 (14/1,000 1) | BRIESFERMEE / (NEFERM%/1,000)
C126 |HlEUn= 91.2 91.0 90.9 (%) (BIEAEE AE%E) x 100
C127 #E/KELEIS 11.1 9.0 5.5 (14/1,000 1) |[#aKIELLAER / (Fa/K4E%8/1,000)




PIEtE1E | PIFTE1E | PITEE e )
B bay | X5 B PI% ==Yy} STER
(H30) (R1) (R2)
C201 KERMICET 3 BIREEE 2.39 2.73 2.82 (/N) BENEUE L TL\DKERMICE T &8 / £HEH
C202 4 ERFMERSRT 6.6 10.3 4.5 (BERE/N) (BEDIEPIHE R 2T 2RI x ZEAL) / 2WEH
C203 NEBHHMERSRT 0.0 0.0 0.6 (BERE/N) (BB PEPIHE R 2T 2RI x ZEAL) / 2HWEH
‘ii ABR | C204 #ftiE=x 60.7 58.1 63.3 (%) (AT ES ) £IE%) x 100
C205 [JKIEBZEFZFIIIREREE 9.4 8.7 8.5 (F£/N) RS DB REREL / IS
A C206 EHEHIREELK 0 0 0 (A -H) > (ERHBHREBL x HIEEE)
7 C207 EEHHZAEL 0 0 1] (A-H) s (ERBAZAEE x BEAX)
i C301 1RETEFEX 100.0 100.0 100.0 (%) (BEUTAEA—S—2 | KiBA—5—53BH) x 100
@ %?%;EEZE ®=— FE = Ela): Lok N Lok
o = 0302 BB ERmEE 0.0 0.0 0.0 (%) (j:o_%;zuf UTE3KI5 KB EE D /| &FKHEEREEN) X
i C401 [LIREE(C K BIBIRDIZME 0.0 0.0 0.0 (EB/45F) IRERESD & DERERER / $aKIEER
pd - 1ERIEMA | C402 A >H—RV MNILDBEHROBHE 7 11 8 (En) T I R—ADBEEE
= a f C403 KEMERRFEIES 5.90 6.53 3.01 (A/1,000 N) REEH / (BR1EEKADO/,000)
=
; = C501 EZ5EE&E 0.06 0.08 0.00 (A/1,000 N) | EZHAE/ (BRIEFBKALD/1,000)
| F C502 74— MERINESIES 0.74 0.81 0.15 (A/1,000 N) 7> —NEBEAZ/ (R7EE/KACO/1,000)
> ; S C503 EEEAX 70.0 0.0 88.0 (%) (EIEERAEELR / 72— NEES) x 100
3 ' C504 /KEH—EXRICHT IFERIGEES 0.01 0.01 0.00 (f4/1,000 ) | AKEH—EXEBRE / ($87K1E#8/1,000)
- C505 /KE(CHITIEEWEES 0.12 0.19 0.09 (f4/1,000 ) KEZIEMSMAE / (FBK4#/1,000)
C506 JKEREICHT IHEHEEES 0.00 0.01 0.00 (15/1,000 )  AERSEESLEER / (FB7K{4HR/1,000)




